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A square has a side length of 2x + 2 and has equal volume to a rectangle with width x* + 2x + 1.
What is the simplified expression for the length of the rectangle?
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2) The width of a rectangular prism is 6 more than the length. If the volume of the prism is
x” + 5x° - 6x, what is the simplified expression for the height of the prism.
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3) A cube and a cylinder have the same volume. If one side length of the cube is 6x and the radius
of the cylinder is 2x, find the height of the cylinder.
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Simplify each and state the excluded values.
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12) When can you cancel €xpressions in the numerator with expressions in the denominator?
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13) Why can you cancel in the situation that you wrote above?
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Simplify each and state the excluded values.
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Simplify each expression.
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